24. Regular Roots & Stems

Lesson in a Nutshell

Beginning with a root (like Av), Greek verbs follow a few obvious and

consistent patterns to show us their tense.

Let’s begin with AVw, a nice, regular verb that plays by all the rules.

On your Master Chart, you will notice that some of the boxes are shaded. These are the

oddballs. Never fear! We will master them soon. | have deleted them in the picture

below.

Active
“l was

Elvov
EAveg
EAvev
EAdopE
eAdETE
EAvov

Indicative Mood

loosing”

Imperfect

augment, present tense stem

secondary endings

Middle/Passive
M: “I was loosing for seif”
P: “l was being loosed”

EAVOUTY
eAvov
EAVETO

v £AVOpEd
EAdechE
eAdovio

Personal Endings

Present

Present tense stem (lexical form)
primary endings

Active

Mid/Pass

“I loose” M: “I am loosed for seit”
P: “l am loosed”

Ao
Aderg
Aver
Adopev
Avdete
Adovory

Adopot
AdY
Adeton
Avopefo
Adeobe
Adovron

Future
O before
primary endings

Active

“I will loose”
Moo
Aoerg
Adoer
AMdoopev
Adoete
Adoovary

Middl:

“I will loose for seif"

Adoopot
Aon
AMdoerton
Avoopebo
AMdoeobe
Avooviar

Aorist

augment, OO,
secondary endings

Active
“l loosed”
Elvoo
EAvoog
EAvoev
EAdoOpEY
EAdoate
Edvoav

Middle
“I loosed for seit”

eAvoapuny
eAMdow
EMdoato
eAvoapedo
erdoacte
erdoavTto

Perf Act

reduplication, K
primary act end
Active
“I have loosed”
AEAvKOL
AEAVKOG
AEAVKEY
AeAOKopEY

Aehvxate
AeAOKaOLY

Tense Stems
. Present
. Future
. Aorist Active
. Perfect Active
. Perfect Middle/Passive
. Aorist Passive

Perfect Middle/Passive

reduplication, N0 K, no connecting vowel
primary m/p endings

M: “I have
loosed
for self”

P: “I have been
loosed”

Aor Pass
augment,
secondary act end

Passive

“l was loosed”
EAVBNY
EADOTG
£A00N
EADOTuEV
EAdOnTE
EMddnoav

Mid/Pass
Aédvpon
AeAvoat
AeAvTan
Aedvpebo
AEAvobe
AEAOVTOL

Future Pass

primary m/p endings

Passive
“I will be loosed”

AvOroopan
Avbnon
Avbroeta
AvBnoopeda
Mvbnoecte
Avonoovral

As you can see, there are many forms. But remember: there are only a few patterns.

As we have seen, the personal endings tell us the person and number as well as the

voice.

There are only a few clues we need to recognize to determine the tense.
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This is the “recipe book” to make all the tenses of Abw. Here is some great news: The
clues for Aow hold true for almost all the verbs!

Recipes for Verbs

Tense Clues Meaning
Present Present tense stem (lexical form) Ongoing or undefined
AV primary endings aspect, present time
Imperfect augment, present tense stem , -
EAvOV secondary endings Ongoing aspect, past time
Future before Undefined aspect, future
Ao primary endings time
Aorist augment, o0, Undefined aspect, past
eAvoo secondary endings time

Perfect Active

reduplication, k¥

Perfected aspect, past to

AEAVKOL primary active endings present time
Perfect reduplication, no K,
Middle/Passive no connecting vowel Perfected aspect, past to
/ . . . . present time
AEAVLLON primary middle/passive endings

Aorist Passive
eAuonV

augment, On
secondary active endings

Undefined aspect, past
time

Future Passive
AvOnoopoit

primary m/p endings

Undefined aspect, future
time

Now let’s look at these forms, one at a time.
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Present (active & middle/passive) Tense

Imperfect Present Perf Act
augment, present tense stem Present tense stem (lexical form) reduplication, K
secondary endings primary endings primary act end
Active Middle/Passive i Mid/Pass . Tense Stem:
“I was M: “l was loosing for self” “I r M: “l am loosed for seir”| Active 1. Present
loosing”  P: “| was being loosed” P: “l am loosed” 1 haye loosed" g ::h'"IeAcﬁv
“vov Aviuny : ; Kikoca el
“Aveg EAdov 1 Aehvkag 5. Perfect Middle/Passive
Evev £AvETO b 0 Aéhvkev 6. Aorist Passive
EAdopev EAvopeda v 0O B Aehvxopev
Endete EAdecte p: Aehvxare
“vov Erdovto v 3 ¢ Aehvxaoty

Indicative Mood

Perfect Middle/Passiv

. ] ion, no K, no ing vowel
Personal Endings primary m/p endings

Active Middle .
“I will loose" *I will 00se for i’ M: 1 have MMAPaw
Moo Aoopon loosed EAvpo

0 0 Aedvoot
Moeig Mon forsal” Loty
Moer Moeta ) o
AMoopev Mvoopeda [y Pl havef;een Mmﬁg:
AMooete Moeobe s loosed’ Ly
AMboovoLy Mooviar VIO

Aorist Aor Pass Future Pass
augment, OCL, augment, ne
secondary endings secondary act end primary m/p endings
Active Middle Passive Passive
“lloosed”  “I loosed or sei” “| was loosed” “I will be loosed"
“voa EAvodunY edony AvBricopan
EAvoag oo EA6ng Mbion
Elvoev Eddoato A AMvbroeton

E\boopey  Ehvodpedo 5 eAvnpev Abnodueda
eAdoate EMdoncle [N C eAvenre Avbrioecte
EAvoay E\doavro 5 3 EdBnoay AvBioovrat

Zoom in!

Personal Endings 4 Present I
Present tense stem (lexical form)
primary endings

Active Mid/Pass

“l loose” M: “I am loosed for self”
P: “l am loosed”

AVO AVOLOL

AVELG AV

AVEL AVETOL

AVOEV AvOpEda

AVETE AvecBe

\M')ouow AvovTOoL )

When we learn a verb in Greek we will learn it in the present tense. Because of this, the
clue in the present tense is that there is no clue! The present looks just like the lexical
form with the primary endings attached.
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Imperfect (active and middle/passive) Tense

Imperfect
augment, present tense stem
secondary endings

resent Perf Act
Present tense stem (lexical form) reduplication, K
primary act end
Tense Stems
1. Present
2. Future
3. Aorist Active
4. Perfect Active
5. Perfect Middle/Passive
6. Aorist Passive

“l was M: “I was loosing for seif”
loosing”  P: “I was being loosed”
EAvov Edvouny
EAveg EAdo
Evev EAvETO
erdopey EAvopedo
EAdete eAdecte
Edvov eAdovio

M: 1 am loosed or soi” Active
P: “l am loosed" “I have loosed"
AeAvKe
Aédvkog
AeAvkey
Aeddxoyey
Aehvkate

Indicative Mood

Perfect Middle/Passive

reduplication, N0 K, no connecting vowel

primary endings primary m/p endings
Active Middle

“I will loose”  “I will loose for selr”
Mow Moopot
Moeig Moy
Moer Moeton
Adoopev Avoopeda
Moete Moeobe
Moovoty Moovial

Mid/Pass
Aéhvpon
AehvooL
AeAvran
AeADpefo
Aehvobe
Aehovran

P: ‘I have been
loosed”

Aorist Aor Pass
augment, G0,
secondary endings
Active Middle
“l loosed”  “I loosed tor seif”| “I was loosed”
Avoa EAvoauNY t:el\:lOnv
EAvoog Ao EAdng
EAvoev EMdoato EAoen
EMdoopey  EAvodpeda ;zl\:uenpsv
eMdoate eddoace [ EAvonTe
EAvoay eddoavto Evbnoav

Future Pass

augment, c

secondary act end
Passive

primary m/p endings
Passive
“I will be loosed"

Avdnoopat
AMinon
Avdnoetol
M)Gfm’msea
Avbrioecte
Avbricovron

Zoom in!

[

Personal Endings

Imperfect N

augment, present tense stem
) secondary endings

Elg Active Middle/Passive

EL “l was M: “I was loosing for seif”

OUEV

ETE

0VOL(v)

ov

EC

loosing”
EAVOV
EAVEC
EAVEV
EAVOLEV
EAVETE

P: “I was being loosed”

EAVOUNV
EAVOV
EAVETO
EAVOpEd
EAMVECDE
EAVOVTO

\’éluov

J

The imperfect tense is built on the present tense stem.

Since it is in the past time, we attach an augment to the front of the verb and use the
secondary endings.
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Future (active and middle) Tense

Imperfect Present Perf Act
augment, present tense stem Present tense stem (lexical form) reduplication, K
secondary endings primary endings primary act end
Active Middle/Passive Active Mid/Pass
‘I was M: “I was loosing for seif” “I loose” M: “I am loosed for seit”| . .
loosing”  P: “l was being loosed” P: | am loosed” 4 haye loosed’
EAvov EAvouTY M:m Aéhvxa
EAveg £Adov Meig 1) Aéhvxag
EAvev £Aveto el Aéhvxev
Erdopev EAuopedo Mdopev ; B Aehxapev
EAdete eAdecte Avecbe % Aehbrare
& EMdovio Movron 5 : Aeddxaoty

Indicative Mood

Perfect Middle/Passive
. > reduplication, N0 K, no connecting vowel
Personal Endings . i primary m/p endings

Active Middle "
“I will loose” “I will loose for self’ M: I have Mid/Pass

Mow Adoopat loosed ﬁ:\ﬂlm
Mboerg Ao forsel” xéh‘::“
AMooer Adoetan P-4 have b AeMbicbor
Adoopev Mvoopedo [ < "1 have been 7
Moete Moeole b loosad tk::?;
Mooovory AMboovron

Aorist Aor Pass Future Pass
augment, O0L, augment, me
secondary endings secondary act end primary m/p endings
Active Middl Passive Passive
“lloosed”  “I loosed for seif”, “I was loosed” “I will be loosed"
Evoa EAdvaaunv Flll)GnV Avbroopar
EAvoag edow EAdeng Mbnon
E\voev EAdoato £Aven Avbnoetan
EAdoapey  EAvodpeda ~ EndBnuev Abnoopedo
eAdoate eAdoacte [N K eAdbnte AbricecBe
EAvoay erdoavto 5 5 Erdnoay AvBroovian

Zoom in!

Personal Endings / F uture \

O before
primary endings
Active Middle
“I will loose” “I will loose for self’
AVO® AVCOpOL
AVOELG AvoT
AVOEL AVOETOL
AVCOUEV Avoopefo
AVOETE AVoecOe
Kﬁ.\')oouow AvoovTOL Y,

The future is built on the future tense stem. In the case of A0w, it is the same as the
present tense stem. As we will see, sometimes it changes a little.

But the big clue for the future is the ¢ before the primary endings. It is usually very easy
to spot.
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Aorist (active and middle) Tense

Imperfect Present Perf Act

augment, present tense stem Present tense stem (lexical form) reduplication, K

secondary endings primary endings primary act end
Active Middle/Passive Active Mid/Pass "

“Iwas  M: “l was loosing forseif”" “lloose”  M: “I am loosed for sei’| Active
loosing”  P: | was being loosed” P: “l am loosed” I have loosed"
EAvov EAVOINY Ao Adopat Aéhvxa
Elveg eadov e A7 Aehvrag
EAvev £Aveto e Mdeton Méhvkev
EAdopev EAVopeda Adopev Avopedo B Aehdrapev
Eldete EMdecBe Aete AMdeobe > Aehdrare

£Adovio Adovary Movron g : AehvxaoLy

Indicative Mood

Future Perfect Middle/Passive
. O before reduplication, N0 K, no connecting vowel
Personal Endings  primary endings primary m/p endings

Active Middle "
I will loose” | will Ioose forsoi” M: I have Mid/Pass
0 o AéAvpon
Moo Moopot loosed Moo
Ao Ao pias oo
Mooer Moetan ) pon
AMooopev Modpeo [ P: I have been ulzzg Ea
Moete Moeobe ~ loosed vy
Mooty Moovion vToL

Aorist Aor Pass Future Pass
augment, G0, augment, e
secondary endings secondary act end primary m/p endings
Active Middle Passive Passive
“l loosed”  “I loosed for selr” “I was loosed” “I will be loosed"
o EAvodunY edeny Avbricopat
‘EAvoag Edow EAdbng Avdnon
Evoev Edoato eden Avbrioetan
EMdoapey  Elvodpeda B EAdnpev AvBnoodpeda
Edoate edoace [N e eAdonte Avbnoecte
Evoav Edoavto 5 5 EdBnoay AvBricovian

Zoom in!

Personal Endings / AoriSt \
augment, OOL,
secondary endings

Active Middle

“I loosed”  “I loosed for self”
EAVOQ EAVOOUNV
EAVOOC EAVO®
EAVOEV EAVCOLTO
gEAvoopey  EAvoapeda
EAVOOITE EAVC0C0E
K’ékooav EAVCOVTO )

The aorist tense is built on the aorist tense stem. Usually this is easy to spot and looks
just like the present with oo attached. Sometimes it is unusual. But more of that later.

Because the aorist tense is undefined action in the past time, it uses an augment and
the secondary endings, just like the imperfect.

The big clue for the aorist is the ca. As you can see, the ca makes the secondary
endings look a little different. Mainly, the connecting vowel gets swallowed up by the o,
but the endings are still perfectly recognizable.
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Perfect (active) Tense

Imperfect Present Perf Act
augment, present tense stem Present tense stem (lexical form) reduplication, K
secondary endings primary endings primary actend

Middle/Passive Active Mid/Pass . Tense Stems
M: “I was loosing for seif” “lloose”  M: “l am loosed for sei’ ; Active X 1. Present
loosing”  P: “| was being loosed” P: “l am loosed” 1 ha:/e loosed 2. Future
Evov EAVOPNY Ao AeAvKe

3. Aorist Active

v 7 4. Perfect Active
EAveg EAdov Aderg Aehvrog 5. Perfect Middle/Passive
EAvev £Mdeto Ader 0 Aehoxev 6. Aorist Passive
EAdopev EAvopeda AMopev 6 B Aehdrapev

E\dete £Avecte Mete 0 > Aehdrate

EAvov £Adovio v AMovrar 3 ; AeAvkaoLy

Indicative Mood

Perfect Middle/Passive
i no K, no ing vowel
Personal Endings primary endings primary m/p endings
Active Middle

“I will loose” *I will [00se for set’ M: “l have Mid/Pass

. . AéAvpat
Moo Moopot loosed AeAvoar
AehvTan

Adoelg Mdon for self”
AMboer Moeton .
Moouey  Avoousta P:thavobosn  Mehinsdu
Moete Adoecte  [i8 S loosed A_én,w ©

AMboovoLy Myoovion oVt

Aorist Aor Pass Future Pass
augment, O0L, augment, c .

secondary endings secondary act end primary m/p endings

Active Middle Passive Passive

“l loosed”  “I loosed for seif"| “I was loosed” “I will be loosed"

Evoa EAvaaunv EAdny AvBricopon

EAvoag Erdow éll:ﬁn; Avnon

Evoev eAdoato £ Mvobroetan

Eddoopev  Elvodpebo R EAdBnpev AvOnoodpedo

EMdoate eMdoacle [N 5 EMvbnte AvBnoece

Evoay eAdoavo 5 5 £rbBnoay AvBricovian

Zoom in!

Personal Endings K Perf Act \
reduplication, K
primary act end

Active
°:;" “l have loosed”
Vo) AEAVKQ
ov AEAVKOG
eg AEAVKEV
AEAVKOUEY
AEAVKOLTE

AEAVKOLOLY
\ J

The perfect active is different from the perfect middle/passive, so it gets its own tense
stem.

The clues to look for in the perfect active are

Reduplication® on the front of the verb and
K before the primary active endings.

As you can see, the endings get swallowed up by the o, just like they did in the aorist

and this makes them look somewhat different. But remember: look for shapes. Don’t
insist on exact duplicates.

1 Reduplication means duplicating the first consonant of the word and separating it by an €. For example,
AU > AeAu
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Perfect (middle/passive) Tense

Imperfect Present Perf Act
Present tense stem (lexical form)
gs primary endings
a Mid/Pass )
M: “ was loosing for selr” “ " M:“l am loosed for so"| . Active )
loosing”  P: “| was being loosed” P: “l am loosed” 1 haye loosed'
EAvov EAvouTY « M:'UWH Mervra . Perfect Active
Ehveg EAdon A Aedvxag 5. Porfect Middie/Passive
EAvev eAveto et AéAvKeV 6. Aorist Passive
EAdopev EAvopedo Avopedo B Aehvxapev
E\dete eAdeche Aveobe % Aehdore
£Adovio Movrar g : AeddxaoLy

reduplication, K
primary act end

Indicative Mood

O before
Personal Endings primary endings primary m/p endings

Future Perfect Middle/Passive
lication, no K, ing vowel

Active Middle Mid/P
“I will loose”  “I will loose for seir" M: ‘1 have

0 0 AEADjLOL
Moo loosed €
Mdoerg Yo P xk\‘:;\
N i P: “I have b Aehdyedo
Mdoopev Moopeto [ : I have been e
Moete Moeobe ~ loosed” t&\\:?;
Mooovay AMboovran i >

Aorist Aor Pass Future Pass
augment, O0L, augment, ne
secondary endings secondary act end primary m/p endings
Passive Passive
“I was loosed” I will be loosed"
EAdony Avbroopon
EMdeng AM0on
A0 Avbrioetar
f;:M}Gnuzv AvBnodpebo
eAvbnte AvBrioecte
Erdenoay Avbricoviat

Zoom in!

Personal Endings " Perfect Middle/Passive

reduplication, N0 K, no connecting vowel
primary m/p endings

Mid/Pass

OpEV M: “I have Aol
°‘f;f‘“’ Ioose”d kék\)ﬁat
for self X
d AEAVTON
. P: “ have been AEAVLEDOL
loosed” AEAVOOE

AEAVVTOL
\ %

The perfect middle passive is a bit of an oddball. The forms are not very difficult to
recognize.

Because they are perfect, they are reduplicated.

There is no k. Instead, the primary middle/passive endings are tacked on without a
connecting vowel. In the second person singular, there is a strange form: cat. Actually,

this is the true form of the second person singular that gets all twisted around in the
other forms. Sigmas cause problems for Greek verbs (ca1).
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Aorist (passive) Tense

Imperfect Present Perf Act
tem Present tense stem (lexical form) reduplication, &
ngs primary endings primary act end
Active Mid/Pass 5
: “lloose”  M: ‘I am loosed for so" Active
loosing”  P: “l was being loosed” P: “l am loosed” ‘I /"ar/e loosed"
EAvov EAvOuNY Ao Adopat Aedvxa
Elveg £Adov Aderg Ay
EAvev £AvETO Aer Meton
EAdopev EAVOpEdD Adopev Avopebo
E\dete eAdecBe Adete AMeobe
Edvov eAdovio Abovary Movran

AEMVKaG 5. Parioc Middaassive
AeAvKEV 6. Aorist Passive
Aeddropev

Aeddrote

Aeddxaory

Indicative Mood
4. MéAvka

Perfect Middle/Passiv
. O before ication, no K, no ing vowel
Personal Endings primary endings primary m/p endings
Active Middle i
“I will loose”  “I will loose for seif" M: “l have mﬂm
Moo Moopar loosed me::
Moeig Mo forseif” Advron
Moer Aoeta . oAbt
AMooopev Avoopeto  [§ P: 1 have been mwz *
Moete Aoeobe g loosed byt
Aoovion VIO

Aorist Aor Pass Future Pass
t, OC, («

au

, augment, 1S

/ endings secondary act end primary m/p endings
Middle Passive Passive

“I loosed for seir| ‘I was loos “I will be loosed"
EAvoapuny :zz.\:usnv AvBnoopon
EAdow EMDBnG Avbron
eAdoato Erden Avbroetat
EAvodpea < EAdBnpuev AvBnoopede
eAdoaocte [N S Endente AMvdoece
EAdoavo 5 5 EbBnoav AvBricovian

E— ” Aor Pass )

augment, on
secondary act end
Passive
“l was loosed”
EAVONV
EAVONC
£A0ON
EAVONUEY
eAVONTE
\_ eAVBNoaV )

The aorist passive gets its own form. It is usually very easy to spot.
Because it is in the past time, it is augmented.
It uses 01 to identify itself. This usually sticks out like a sore thumb.

The odd thing about the aorist passive is that it uses secondary active endings. (You
would expect to use middle/passive endings.) But no big deal. The 61 makes it obvious

that it is a passive form. And the person and number are easy to spot if you focus on the
patterns.
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Future (passive) Tense

Imperfect Present Perf Act
augment, present tense stem Present tense stem (lexical form) reduplication, K
secondary endings primary endings primary act end
Active Middle/Passive Active Mid/Pass | Tense Stems
‘I was M: “I was loosing for seit” “I loose” M: “I am loosed for seit” Active 1. Present
loosing”  P: “l was being loosed” P: “l am loosed” ‘I haye loosed" 2. Future
EAvov EAVONY Ao Adopat Aéhvra i ::::m“‘le
EAveg eAdov Aderg Aon Aehvrog 5. Perfect Middie/Passive
EAvev £AveTo Ader Metan Aedvkev 6. Aorist Passive
EAdopev EAVOpedo Adopev Avopefo Aedvxapev
EAdete eAdeche Avete Meabe Aehdrote
EAvov eAdovio Adovorv Movron Aedvxaoly

Indicative Mood
4. AEAvKe

Future Perfect Middle/Passive
. O before reduplication, N0 K, no connecting vowel
Personal Endings primary endings primary m/p endings
 Acve - Midde Mid/Pass
I will loose”  “I will loose for seif M: “I have AEA
Moo Adoopot loosed EAOpaL
Aoerg Mo for seif” Aédvoan
; L Aedvron
Mdoer Moetan P-4 have b NeAbuebo:
b $ : “I have been
Mlmou.ev Mlmouesa . I ,, Aéhvobe
Moete Moecbe loosed p
) ) Aedvvron
Moovoly Myooviar

Aorist Aor Pass Future Pass
augment, OO, augment,

me
secondary endings secondary act end primary m/p endings
Active Middle Passive Passive
“l loosed” ‘I loosed for seit” “I was loosed” “I will be loosed"
EAvoa Edvoauny ?M:JGHV Avbrioopan
EAvoog Moo EAding Aviion
E\voev eAdoato £Av6n AvBnoeton
EAdoopevy  EAvoduedo R eAdBnpev AvBnoopedo:
erdoate eMvoacte [N K eAvbnte AvBroecle
EAvoay eMdoavto 5 5 eAvnoav Avbrioovral

Zoom In!

Personal Endings /Futu re Pass\

primary renT)}g) endings
Passive
“I will be loosed”
AvOnoopon
Avinon
AvOnoeTon
AvOnocopedo
AvOnocecOe
\_ AvOnoovron )

The future passive is sort of an oddball. It is built on the aorist passive tense stem. But it
is easy to recognize.

It uses O1\c to identify itself. We are used to thinking of o as an identifier for the future.
Plus, we use the primary middle/passive endings, which makes sense.

Actually, even though this is an odd form, it is very easy to recognize. The 01| will
shout, “Future passive!” to you.
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So there you have it. All the forms of AVw!

But here’s the deal: If you understand how AUw changes to show you its tense, you are
well on your way to understanding Greek verbs, because most of them follow a similar

pattern.

One more time. Here is a summary of the clues that will be used to recognize tense.

Take some time to make friends with this table!

Tense Clues

Present Present tense stem (lexical form)
Ao primary endings
Imperfect augment, present tense stem

EAVOV secondary endings

Future before

Ao primary endings

Aorist augment, 60,

gAVOOL secondary endings

Perfect Active

reduplication, k¥

AEAVKOL primary active endings

Perfect reduplication, no K,
Middle/Passive no connecting vowel

AEALLLOL primary middle/ passive endings

Aorist Passive
oMV

augment, On
secondary active endings

Future Passive
AvOnoopuon

primary m/p Cndings
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